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ENGLISH VERSION

Instructions : (1) Give answer according to internal options.
(2) Figures in the right side indicate marks.
1 Give the answer : (Any one) 14
(1) Explain the affecting factors of industrial location.
(2) Explain the theory of location given by sergeant Florence.
(3) Explain the Industrial location theory given by Max Weber.
2 (@) Give Answer : (Any one) 10
(1) Explain the classification of Indian Industries.
(2) Explain the role of private sector for Industrial
development.
(b) Give Answer : (Any one) 10
(1) Explain the Regional Industrial growth in India.
(2) Explain the industrial imblance and it's causes.
3 (a) Give answer : (Any two) 10
(1) Explain the industrial pollution problems in India.
(2) Explain the government policy for Industrial
Pollution control.
(3) Explain the sources of Industrial Finance.
(4) Explain the types of institutional finance.
3 (b) Give answer : (Any two) 10
(1) Explain the role of institutional by Industrial
development.
(2) Explain the functions of IDBI.
(3) Explain the Functions of IFCI.
(4) Explain the recent theory of industrial location.
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4  (Give one or two line answer. 6
(1) What is selection of industrial location ?
(2) Give the full form of IDBI.
(3) Explain the factors determining industrial localisation.
(4) What is industrial productivity ?
() Explain the Economic causes of Industrial Location.

(6) Give the name of Industrial Finance institutions.

5 M.C.Q.:(Any ten) 10
(1) Which of the following Economic causes of Industrial Location?
(A) Nearest market (B) Labour facilities

(C) Facilities of Vehicle (D) All of the above

(2) Which of following causes of Industrial Location?
(A) Geographical causes (B) Economic causes

(C) Political causes (D) All of these

(3) Which year declared of location theory by Alfred Weber ?
(A) 1909 (B) 2009

(C) 1910 (D) None of these

(4) Which cost included of Weber location theory ?
(A) Vehicle cost (B) Labour cost

(C) Both (D) None of these
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(5) Where is location of Cotton Textile Industry ?
(A) Maharashtra (B) Gujarat

(C) Tamil Nadu (D) All of the above

(6) Where the location of Steel Industry ?
(A) Jarkhand (B) West Bengal

(C) Madhya Pradesh (D) All of these

(7) Started the new Industrial policy........
(A) 1901 (B) 1991

(C) 2001 (D) 1908

(8) When the established the IDBI ?
(A) 1974 (B) 1954

(C) 1964 (D) None of these

(9) When the established the IFCI ?
(A) 1948 (B) 1958

(C) 1968 (D) None of these

(10) The main factor of new economic policy -
(A) Liberalization (B) Privatization

(C) Globalization (D) All of these
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(11) Which pollution is given by Industry ?
(A) Airpollution (B) Water pollution

(C) Noise pollution (D) All of these

(12) Which of the following institution given the Industrial

Finance ?
(A) IDBI (B) IFCI
(C) SFCS (D) All of these
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